
Chapter 5 Warm-Up Answers 

BLM 5–3 Chapter 5 Warm-Up

Section 5.1

1. a) –5  b) –89

2. a) 3x2 – 3xy + 15x  b) –10y2 + 16y
3. a) 4x2 – 9  b) –3x2 + 8xy – 7

4. a) 26 – x  b) 2y  5. 40x2 – 23x
Section 5.2

1. a) (2)(2)(2)(3)(3)  b) (2)(2)(5)(5)

2. a) 1, 2, 3, 4, 6, 8, 9, 12, 18, 24, 36, 72

b) 1, 2, 4, 5, 10, 20, 25, 50, 100

3. a) 72, 144, 216, 288, 360

b) 100, 200, 300, 400, 500

4. a) 1, 2, 3, 4, 6, 8, 12, 24

b) 1, 2, 4, 5, 8, 10, 20, 40  c) 8

5. a) 3x2 – 17x + 10  b) 6x3 + 36x2 – 66x
Section 5.3

1. a) 3x2 + 7x – 20  b) 2x2 + 3xy – 20y2

2. a) 3x(x + 3)  b) 2y(4x – 3y)

3. a) (x + 2)(x – 5)  b) (2x + 5y)(x + 2y)

4. a) (1)(12); (2)(6); (3)(4); (–1)(–12); (–2)(–6); 
(–3)(–4)  b) (1)(7); (–1)(–7)  c) (1)(–7); (–1)(7)

5. a) (1)(–6); (–1)(6); (2)(–3); (–2)(3)

b) 3 and –2  c) –6 and 1
Section 5.4
1. a) x2 – 25  b) x2 – 16

2. a) x2 + 10x + 25  b) x2 – 8x + 16

3. a) 4x2 – 9  b) 36x2 – 49

4. a) 4x2 + 12x + 9  b) 36x2 – 84x + 49

5. a) Example: It means rewriting an expression as a product of two binomials.

b) (x + 3)(x + 3) or (x + 3)2  c) by expanding
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